
Β ΛΥΚΕΙΟΥ ΘΕΤΙΚΟΣ ΠΡΟΣΑΝΑΤΟΛΙΣΜΟΣ 

2.10   1) 

 1    Έχουμε ισοδύναμα 

   ΑΒ ΔΓ ΔΒ ΓΑ ΑΒ ΓΑ ΔΓ ΔΒ 0 ΓΑ ΑΒ ΔΓ ΔΒ 0               

ΓΒ ΒΓ 0 ΓΓ 0      που ισχύει 

2.10   2) 

Έχουμε ισοδύναμα 

ΑΓ ΒΔ ΓΕ ΔΖ ΕΑ ΖΒ 0        

   ΑΓ ΓΕ ΒΔ ΔΖ ΕΑ ΖΒ 0         

ΑΕ ΒΖ ΕΑ ΖΒ 0       

   ΑΕ ΕΑ ΒΖ ΖΒ 0       

ΑΑ ΒΒ 0      που ισχύει   

2.10   3) 

Έχουμε ισοδύναμα 

ΑΔ ΒΓ ΑΓ ΒΔ     

ΑΔ ΑΓ ΒΔ ΒΓ       

ΓΔ ΓΔ      που ισχύει  

2.10   4) 

Έχουμε ισοδύναμα 

ΑΕ ΒΑ ΒΓ ΕΔ ΔΓ      

ΑΕ ΕΔ ΔΓ ΒΓ ΒΑ      

ΑΓ ΑΓ     που ισχύει  

 


